The solution is that all the multiples of nine until eighty one have the same symbol .Every result will be a multiple of nine. It doesn’t guess your number it knows it. You are probably wondering how it ends up being a multiple of nine. There are two ways to prove this thought. The first one is that there is a pattern with the number 99-90 all have the answer of 81 because 99 would be 9+9=18 and 98 would equal 9+8=17 so every time the number goes down you subtract less . This also applies for the next set of groups:  89-80=72   79-70=63   69-60=54 and so on the pattern goes. The second way to prove this thought is if you pic any random two digit number e.g  64 and then you add the digits e.g 6+4=10 you  than take that answer you just got 10 and take it away from the number you originally started with so 64 -10 =54 which can be divided by 9.
These calculations will prove this method:
49= 4+9=13   49-13=36   36÷9=4             
53= 5+3=8     53-8=45     45÷9=5
24= 2+4=6     24-6=18     18÷9=2
[bookmark: _GoBack]Why I chose this solution was because every time I followed the step I noticed it was always a multiple of nine. The fifth time I chose a number I checked the digits and I then found out that all the multiples of nine had the same symbol. I researched more into it and saw that every time it came up with an answer I saw the answer was always the symbol next to nine and its multiple. I noticed that 90 and 99 did not have the same symbol with the nine every time .This is how I came up with my solution.     



